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A sum of money is divided among A, B, C, and D in the ratio of 3:4:9:10
respectively. If the share of D is Rs 3612 more than A, what is the total
amount of money received by A and D together?

Rs 6708

The following word is presented in a disarranged way. You are to find out
the word by rearranging the letters and mark the last letter from the given
alternatives; the disarranged word is “ATHRE”

R

In a certain code language, “RICKSHAW” is coded as “TLENUKCZ”. How
is “BATTERY” coded in that code language?

DDVWGUA

The first day of the year 1998 was Thursday. Which will be the last day of
the year 2001?

Monday

In a row of men, Sujal is 30th from the right and Garvit is 20th from the left.
When they interchange their position; Sujal becomes the 35th from the
right. What is the total number of men in the row?

54



Introducing a person, Shyamlal said, the only son of that person is my
father. What is the relationship between Shyamlal and that person?

Grandfather

Complete the series - 1ZA, 3YB, 6XC, 10 WD, ….?

15 VE

Find out the missing value - 11:22:: 33:?

66

Calculate correctly 1148➗28✕1408➗32 =?

1804

Five books are kept on each other. E is above A, and C is below B. If A is
above B and D is below C, then which book is at the top?

E Book


